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Part One: Reading comprehension
Directions: Read the following passage carefully. Each Passage is followed by
some questions. Complete the questions with the most suitable words phrases(a,
b, c ord).
Base your answers on the information given in the passage only.
Passage Y

Nurses must be alert in transcribing the physicians' telephone orders because
there are periodic contradictions between what physicians claim they ordered
and what nurses allege they ordered. Orders should be repeated, once
transcribed, for verification purposes. Verification of an order by another nurse
on a second telephone is helpful, especially if an order is questionable. Any
questionable orders must be verified with the physician initiating the order.
Physicians must authenticate their verbal orders. This should be a firm rule of
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the organization. Nurses who disagree with a physician's order should not carry
out an obviously erroneous order. In addition, they should confirm the order
with the prescribing physician and report to the supervisor any difficulty in
resolving a difference of opinion with the physician.

\Y\- The first sentence focuses on .................. .

a) physicians role in taking correct telephone orders

b) significance of taking telephone orders accurately

C) reasons why orders may be misinterpreted

d) differences between physicians and nurses

\YY- The passage discusses telephone orders to ............. .
a) authenticate physicians verbal orders

b) identify nurses degree of alertness

¢) check physicians carefulness in ordering

d) manage the patient's care appropriately

\YY¥-The writer seems to ................. the occasional misinterpretation of
physician’s telephone orders.

a) deny b) underestimate c¢) acknowledge d) justify

\Y¥- "Verification" is referred to as a means of ................... .

a) asking another nurse to take the order

b) ensuring the accuracy of the orders transcribed

c) taking questionable orders to the initiating physician
d) asking physicians to issue their orders correctly
\Y&- Nurses are told to .......ccvveeeee .

a) follow exactly what the doctors order

b) act on their own when the orders are unclear

¢) limit prescriptions to the supervisor's order

d) avoid following an order which is clearly incorrect

Passage ¥

Psychologist, George Spilich, decided to find out whether, as many smokers
say, smoking helps them to think and concentrate. He put non-smokers active
smokers and smokers deprived of cigarettes through a series of tests. In the first
test, each subject sat before a computer screen and pressed a key as soon as he

Y¥ I
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or she recognized a target letter. In this simple test, smokers, deprived smokers
and non-smokers performed equally well.

The next test was more complex. Non-smokers were faster, but under the
stimulation of nicotine, active smokers were faster than deprived smokers. In
the third test of short-term memory, non-smokers made the fewest errors, but
deprived smokers committed fewer errors than active smokers. In the fourth
test, non-smokers were the best and deprived smokers bested those who had
smoked a cigarette just before testing. As the tests became more complex, non-
smokers performed better than smokers by wider and wider margins.

\Y#- It is pointed out in the passage that the purpose of George Spilich's
experiments was t0 .......cccveeee "

a) test is smoking boosts one's mental capacity

b) investigate the probable adverse effects of smoking

¢) find out whether smoking affects people's regular performance

d) examine the difference between the smokers and non-smokers

\YV- It is stated in the passage that .......... .

a) active smokers in general performed better than deprived smokers

b) active smokers responded more quickly than the other subjects in all tests

¢) non-smokers failed to outperform in the first test

d) deprived smokers gave the slowest responses to the various tasks

\YA- George Spilich's experiment was conducted in a way to ............ .

a) check the effectiveness of nicotine on nonsmokers

b) put the subjects through increasingly complex tests
c) help them take time to finish the test

d) force the subjects to recall the words they learned
\Ya- As opposed to what most smokers say, the results of the tests finally

.................. the positive effects of smoking.
a) confirmed b) rejected
c) failed to cast doubt on d) partially approved
\Y'+- As the findings of this study showed................... .
a) non-smokers outperformed the other groups in all tests
b) smokers performed weaker than the groups in all tests
c) the deprived group performed better than the smokers in the last two tests
d) smokers functioned worse than the other groups in all tests
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Passage ¥

Moisture is required for indoor mold to grow. Indoor mold damages or destroys
whatever substances it grows on. That, plus associated odors, causes diminished
quality of life in people who spend time in such spaces. There is considerable
disagreement in the scientific community about whether adverse health effects
are actually caused by indoor mold, though most seem to agree that spending
time in damp/moist environments can contribute to such respiratory illnesses as
allergy, asthma, cough, runny nose, and sinus conditions. Whether these
ilInesses are caused by mold, mold by-products, dust mites, chemicals emitted
from deteriorating surfaces, or indoor air pollution, remains a subject for further
research.

This may seem like "scientific hair — splitting" to an average person who simply
wants to live and work in nuisance-free environments. Whether or not scientists
agree on the cause of illnesses that might occur in damp places, or even the
definition of dampness, there are abundant reasons to keep indoor environments
clean and dry. This process begins with determining the source(s) of excess
moisture, taking necessary steps to eliminate those sources, getting rid of mold
that may already be in place, and keeping the area dry afterwards to minimize
the potential for further growth of mold.

\¥\- Indoor mold .................... its host substances.

a) shaped a destructive link with

b) develops a symbiotic bond with

C) tends to coexist with

d) serves as a benefactor for

\YY-Scientists ......ooiiiennnne indoor mold's adverse health effect.

a) remain confident about

b) remain silent on

c) disagree about

d) fully approve

\vY-The existence of a direct link between damp/moist environments and
respiratory problems ................. .

a) has already been confirmed

b) needs further investigation
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c) is left unattended

d) is strongly ruled out

\Wf-The text introduces a set of sanitation measures like eliminating the
source of moisture or getting rid of mold to ............. .

a) achieve healthier, mold-free environment

b) perform further research

c¢) remove harmful chemicals from the environment

d) identify the cause of illnesses

\Ya-By the term "'scientific hair-splitting"* (paragraph v). The writer means

................ Involved in the process of solving the problem.
a) deteriorating surfaces
b) air pollution
¢) chemical emissions
d) irrelevant points

Passage ¥

Douglas McMahon, in a research study, found that mice born and weaned in a
winter light cycle showed dramatic disruptions in their biological clocks later in
life compared with baby mice born in summer light. "If an imprinting
mechanism similar to the one that we found in mice operates in humans, then it
could not only have an effect on a number of behavioral disorders, but also have
a more general effect on personality”, McMahon stated. The researchers used a
strain on mice genetically engineered so their biological clock neurons would
glow green when active. Using the glow, the researchers monitored an area
called the suprachiasmatic nucleus(SCN), which houses the biological clock.

The mice's behavior was noticed to match up to the activity in their SCN's. In
the simmer-born mice, SCN activity peaked at dusk and continued for \- hours,

coinciding with the animals' running time. The winter-born mice that stayed in
winter had an activity peak an hour after dusk that lasted y. hours. In the

winter-born mice that made the season switch, however, biological clock
activity peaked two hours before dusk and continued for a whopping ‘v hours,

McMahon said that the winter-born mice's exaggerated response to season
changing was "strikingly similar” to human seasonal affective disorder.
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\Y#- McMahon hopes to find a relationship between ................ .

a) mice and men

b) birthday and personality

c) winter light and the biological clock

d) SCN and green glow of clock neurons

\Y'V-A biological clock is a mechanism in mammals that ............... .

a) regulates their activities

b) directly affects their personality

c) causes behavioral disorders

d) shows no special change in winter light

\WA-The results of this research can contribute to a butter
conceptualization of ........... x

a) the researcher's monitoring of SCN

b) later life of newborns

c) seasonal affective disorders

d) the behavior of winter-born mice

\wa-The research implies that winter birth raises the risk for
SOME..ccceecccnnee .

a) mental disorders

b) seasonal diseases

¢) winter light fluctuations

d) psychosomatic disease at certain seasons

\f+- An example of disorders aimed at in this research is ............ .

a) the flu

b) pneumonia

¢) bipolar depression responses

d) seasonal affective disorders

Part two: Vocabulary Questions:
Directions: Complete the following sentences by choosing the best answer.
\f)- In epidemiology, a member of a population who is at risk of becoming

infected by a diseaseis a ........cccvvvvnnnnnnn. individual.
a) susceptible b) vigilant C) potent d) respectable
\fY- Scientists have .....ccccceveenneenn.. a nerve fiber in the brain that carries
message from one cell to another.
a) sacrificed b) organized c) identified d) delegated
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\fY-The victims of the flood were................ For their loss of property.

a) impressed b) suppressed c) eradicated d) compensated

\f¥- Due to the adverse effects of alcohol on the patient's nerves, his doctor
recommended total .................. from such drinks.

a) tolerance b) abstinence c) maintenance  d) prominence

\f&- Tests must be carried out to ............... the therapeutic efficacy of a
drug.

a) convey b) postpone ¢) confirm d) condemn

\f£- The victim was found to suffer from no physical disorder, his problem
had only been .................... .

a) undersigned b) induced ¢) undermined d) inferred

Vfv- This projects is too large to be conducted by one single researcher; it
would require the. ................ Of several organizations.

a) collaboration b) submission c¢) confrontation  d) incidence

\fA- A cut on the skin will ................. certain chemical processes that will
finally lead to the clotting of the blood.

a) recover b) detect ¢) shrink d) trigger

\fa- In order to avoid any probable errors, it is a requirement to study all
aspects of a plan carefully before .................... it.

a) inserting b) distorting c¢) implementing d) dominating

\d+- After a short break, the committee................. its discussion on
family planning and finally came to a reasonable solution.

a) terminated b) resumed c) assumed d) tabulated

\0)- After the office workers finished his tiring and ................. work, he
started to feel really sick at the office.

a) monotonous b) furious ¢) homogeneous d) precious

VY- Folic acid deficiency appears in pregnant and ............. Women,
putting them at the risk of developing nutritional anemia.

a) retarding b) lactating ¢) manifesting d) competing

\oY-His disease was in a state of ............. For about a year, but
unfortunately the growth of a new tumor reversed the condition.

a) repulsion b) convulsion C) remission d) induction

'&f- Consuming large quantities of salt, though a necessary substance, can
be potentially ............ .

a) lethal b) liable c) advisable d) eligible
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\00-The ear is designed to ............... weak mechanical vibrations of air
into electrical pulses that can be sent to the brain.

a) commence b) convert ¢) conceal d) conceive

\&0%- Modern societies appreciate researchers who are ............... the ways
to help people about their creativity.

a) suppressing b) pursing ¢) undermining  d) underestimating

V0Y-The university is t0 ......ccceeveennnn. more resources to research and
experimental studies.

a) indicate b) advocate c) allocate d) replicate

\dA-The approach you suggest merely ......cc.e.e. Few of the obstacles we
might encounter. There are still some more to consider.

a) addressed b) assert c¢) accomplished d) maintains

\84- The doctor predicted that the patient would be released from the
hospital if no further................. happen.

a) remissions b) complications c) contradictions d) ramifications

\#.- Medical conditions such as poor healing, poor vision and loss of
memory are among the ............ of old age.

a) superiorities  b) priorities c) contributions  d) afflictions
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